
Honda Talon Glass Windshield Instructions

Honda Talon Glass Windshield Instructions

2 –  Rubber Coated Clamps 2"    4 – Locknuts  1/4-20

4 – Bolts  1/4-20 × 1”      8 – Flat Washers 1/4” 

2 –  Rubber Coated Clamps 2"   4 – Locknuts  1/4-20

4 – Bolts  1/4-20 × 1”      8 – Flat Washers 1/4”

STEP ONE – Loosen or remove the roof to begin installation. 
Slide the tube clamps onto the roll cage in the approxi-
mate mounting locations. Put a washer on the bolts 
before installing them through the windshield frame. 
Install a washer then a lock nut on the bolt. CAREFULLY 
tighten the 4 bolts and nuts. The clamps have a tendency 
to pull the windshield frame in further than needed. To 
counter act this, push on the clamp and nut from the 
back side so that it is tight against the windshield 
before tightening. A 7/16” deep socket on a ratchet or 
drill works great to push the clamp from the back.

STEP ONE – Loosen or remove the roof to begin installation. 
Slide the tube clamps onto the roll cage in the approxi-
mate mounting locations. Put a washer on the bolts 
before installing them through the windshield frame. 
Install a washer then a lock nut on the bolt. CAREFULLY 
tighten the 4 bolts and nuts. The clamps have a tendency 
to pull the windshield frame in further than needed. To 
counter act this, push on the clamp and nut from the 
back side so that it is tight against the windshield 
before tightening. A 7/16” deep socket on a ratchet or 
drill works great to push the clamp from the back.

Optional – You can also leave the top panel off and bolt only the windsheild onto the machine. Some after 
market roofs may not fit with the top panel.

Optional – You can also leave the top panel off and bolt only the windsheild onto the machine. Some after 
market roofs may not fit with the top panel.

Clamp Orientation

Clamp Orientation


